Functional Skills

Mathematics

Level 2 openawdards

Fruit and Veg
Externally Set Synoptic Assessment

Sample Question

Q6a. To feed the plants, you use a concentrated liquid fertilizer which needs to be (6 mark)
diluted by 15ml into 4.5 litres of water.

You make up the solution in your watering can which holds 9 litres.

You use 5 watering cans of fertilizer every 2 weeks over a 4 month period.
It is sold in 750ml containers at £4.99 each.

How much concentrated fertilizer will you need to buy for this period?

How much will it cost for the 4 month period?

End of Sample




